TotalMarks: Class:9th Time:....

Test:Physics

Attempt ......... questions
! Spinning motion is: . QMJ‘,,JK)/% .|
a.circular motion b.vibratory motion P SLA b ¥ A
. . b & b
c. rotatory motion  d. random motion S H-d YO A
2> The mass of'a body: u,l'g L (]
a.decreases when accelerated b.Increases when accelrated - }‘( . o -
c. Decreases when moving with high velocity ‘LW/./...L}"U-’/I. -/-b ‘%L » /.:z—”‘bf' [-l-a
d. Remains constant -‘at“wubf_d -‘Lt')’c' /.:iéu/jj;/’f’_c
3 2 Aod
Falcon can fly at speed of: ~‘LOL sk J -
=1 =] i3
2.200 kmh _ b.17kmh 17 kmh ' -b 200 kmh -a
c. 100 kmh d. 70kmh L .
70kmh -d 100 kmh ¢
4 By dividing displacement of moving body . T e . ; =
g . bl SE7 ot B S
with time, we obtain o P KJ e e () Z L‘t')j
g v - (
a.speed b.acceleration = Aib pr e
c.velocity d.deceleration By & e
> To and from motion of body about its mean u’rd!JL@Llﬁ;/gjg;/Lﬁjg&V:&.l Jf@j
position is: . ' _ SrAl-b $
a. translatory motion b.viberatory motion d ¥
c.circular motion  d.random motion (#d ~ Lo
6 The motion i1.1 which a body moves ina -‘LdMJZUKJ’;‘LV/qutG.//U()'ug
circular path is called: Uda ){ b oy ¢ S a
a.random motion b.Circular motion " v - y
c.vibratory motion  d.rotatory motion U u-d 0 s e

" A car starts from rest. It acquires@spoed of k20 -‘LL}/C’/&U/’T,&(]L&%JMUK@
25ms " after 20s. The distance‘oved by the /60 ’/ﬂib"«”u"-‘édl?ﬂ 25ms” dUtetd

car during this time is Aclins S LK
a.31.25m b.25@m g3 L-23m b.250m
¢.500m d.5000m ¢.500m d.5000m

i Negative acceleration is also called: WS bup: ~~~~~~~ A J* “”ué
a. displacement b.Deceleration g $b M Ji-a
c.Retardation d.Both B and C. Jfnenib-d ﬁ bs-c
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